SCH0TTIS ERAIT LILIGSJI
Schottische from -iry

Couples in an open circle which moves CC!, . Preferably ar even nuzb->
of ‘couples so that two couples can form a group for part IV, - -

IKUSIC A slow schottische

POSITIONS Durinz the schottische step the man take the woman's a7
hand from the front (hend in hend), All arms should hanu oTn
freely., During the turn as a couple take the polska position.

'STEES A) Schottische stev without the hor on the fourth beet,
Instead dance all steps with flexed knees, i

B) fras-de-basque, but smoothly. iote! Two pas=de- uasobe steps talke
the same time to dance as one schottische step.

TiiE OANCE  Fext T Two schottische steps forward (measures 1-2),
man beglinning with the left foot and the women with the right
foot. During messure 1 both face in toward each other and durir-
measure 2 they face out in a natural way., Dence four sets of pas-de-
besque steps while turning Cw as 2 couple to make tio comnlete
turns (measures 3 - 4), Repeat measures 1 - 4 (measures 5 - 8).
rert IT The man dances two schottische steps forvard.
ggg oman “dances two schottische steps turning CCY tiwo turns
under the man's raised right arm (measures 1 - 2).
Four pas-dc-hasque Jtcb C, making two turns as a couple {(mess
ures3 - 4),
nepeat measure 1 - 4 (=measure 5 - 8), :
rart 111 Same a3 part I, but the turn as a couple using pas ~de-
basque steps is done CCY,
Part IV One schottische step forward {measure 1l). Then let- -go of
hands,, The women dance the second schottische stev in place, The
. man in cvhe second couple dances his second « schottische step fwd.
To the first couple's woman, while the man in the rirst couple
dences in & how moving outward and backward to the second couple’
woman (measure 2). Then the "new" couples turn C' with four pas-
de-basque steps to make two complete turns ‘measure 3 L so that
the men get back to their original place,

i

The whole dance can be repeated an unlimited nwaber of times,
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